SUBJECT-IP(065) – Model Answer
MAX MARKS-70	                                                                 	TIME- 3 HOURS
NOTE: Students can use their own way of presenting an answer and logics in the code. For the correct answers and logics, marks may be allotted.
	Q No.
	Answers
	Marks 

	1 a)
	Firewall will be used to prevent unauthorized access to or from a private network.
	1

	1 b)
	Unguided medium – Satellite communication
	1

	1 c)
	Repeater
	1

	1 d)
	i) Bus / Linear Topology
ii) Ring / Circular topology
1 mark for each correct answer
	2

	1 e)
	1 mark for each correct answer
	2

	1 f)
	.ogg
	1

	1 g)
	1 mark for each correct answer
	2

	
	
	

	2 a)
	1 mark for correct answer
	1

	2 b)
	i) HTTP- Hyper Text Transfer Protocol
ii) FTP- File Transfer Protocol
	½ 
½ 

	2 c)
	getISelectedIndex( )
	1

	2 d)
	<Table>  tag and <TR> tag
	1

	2 e)
	½ marks for correct header line
1 mark for the logic
½ mark for the return statement
	2

	2 f)
	A=83 B=9
	2

	2 g)
	String strvar = “Computer”;
Char alpha = strvar.charAt(2);
	2

	
	
	

	3 a)
	Show tables;
	1

	3 b)
	Definition of primary key – 1 mark
One difference between Primary key and unique key - 1 mark. 
	2

	3 c)
	The query is removing the Primary key constraint from the table Employee.
	1

	3 d)
	Select job,sal,empno,deptno  from  emp  where ename like ‘T%’ and sal=2000;
	1

	3 e)
	Degree=7 Cardinality=12
	1

	3 f)
	1 difference between group by clause and order by clause -1 mark
	1

	3 g)
	I)
	 COACH_NAME

	Joseph

	Rahul

	Razia

	Parminder



II) No, the outputs are 3 and 4 respectively because the former ignores the NULL value.
	
1






1

	3 h)
	1 mark for correct answer
	1

	
	
	

	4 a)
	1 mark for correct answer
	1

	4 b) 
	Honesty
is the               only policy
	1

	4 c)
	jTextField1:          $mploy$$
jTextField2:         7.0
	½ 
½ 

	4 d)
	int i=0,sum=0;
while(i<5){
            System.out.println(“Sum=”+sum);
            sum+=i;
             i++;
}
	2

	4 e)
	Underlining Errors
int sum , while ;                                            //while is a keyword
	for( int i==0 ; i<=10 , i++)                             //wrong operator == 
                                                                      // ; missing
	sum+=i ;
System.out.show(“Sum=”+sum);     //print or println instead of show
CORRECTED CODE
int sum ;
	for( int i=0 ; i<=10 ; i++)
		sum+=i ;
	System.out.print(“Sum=”+sum);
	
2

	4 f)
	switch(daynum) {
case 1 : day = “Monday”;
              break;
 case 2 : day = “Tuesday”;
              break;
case 3 : day = “Wednesday”;
              break;
default : day = “No match”;
}
	2

	4 g)
	long LngPhone=Long.parselong(strPhone);
	1

	4 h)
	i) 1 mark for the correct code
ii) 
1 mark for taking values in text field from the user
1 mark for sub total calculation
1 mark for Total calculation
iii) System.exit(0);
	1

3


1

	
	
	

	5 a)
	1 mark for correct difference and 1 mark for the example of DDL and DML commands
	2

	5 b)
	i) B5/69 KOL
ii)  7
iii) 72.54
iv) 14
	½ 
½ 
½ 
½ 

	5 c)
	i) Select PName from Hospital 
where Charge_per_day between 1500 and 2500;
ii) Select PNo,PName,Dept from Hospital
where Gender=’F’ and Dept=”Orthopedics”;
iii) Select * from Hospital
where DOB > ‘01/01/2000’
order by DOB;
iv)Select PNo,PName,Days * Charge_per_day “Final Bill”
from Hospital;
v)  4
vi) 18
vii) 4000
viii) DEPT          COUNT(*)
   Cardiology         2
      ENT                3
   Orthopedics       2
   Pediatrics           1
	1

1

1


1

½ 
½ 
½ 

½ 

	
	
	

	6 a)
	For defining columns- 1 mark and for providing constraints -1 mark
	2

	6 b)
	For each correct query – 2 marks (partial marking is allowed)
	2+2+2=6

	6 c)
	i) P_No
ii) Alter table Patient Add Department varchar(30) NOT NULL;
	1
1

	
	
	

	7 a)
	1 mark for each societal impact given for appropriate justification. 
	2

	7 b)
	½ mark for E-learning definition. ½ mark for the name of any E-learning site.
	½ + ½ = 1

	7 c)
	i) Text Field
ii) Radio Button
iii) Combo Box
iv) Check Box or List
	½ 
½ 
½ 
½ 



Marking scheme -4-

